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ik (2) Trading of carbon dioxide emissions.

hi; (3) To reduce the emissions of

E:‘E courses, liable to flooding.

:
.‘g

What was the main aim of the Montreal 4.

Protocol ?
(1) To reduce the use of automobiles.

greenhouse gases.

(4) To reduce the production of ozone-

destroying agents like CFCs and

Halons.

Which of the following are main Heads

of the NITI Aayog ?

a. Design policy and programme
framework.

b. Foster co-operative federation
Monitoring and Evaluation

d. Think tank and Knowledge an
Innovation Hub.

e. Controlling State Government

Select the correct answer using the codes

given below : ;

(1) a,c,donly

(3) a,b,conly

(2) a,b,c,d
(4) a,bonly

Contour bunding is a method of soil

conservation used in -

(1) Desert margins, liable to strong
wind action.

(2) Low flat plains, close to stream

(3) Scrublands, liable to spread of weed
growth.

(4) None of these
564-0

©))

— -

Bushman Tribe 1s majorly found in
(1) Atacama Desert

(2) Kalahari Desert

(3) Sahara Desert

(4) Sonoran Desert

Find thé match of the followings —

a. Benguela Current  — Indian Ocean
b. Agulhas Current — Atlantic Ocean
c. Humboldt Current - Pacific Ocean
d. Canary Current — Atlantic Ocean

Which of the pairs given above are
correctly matched ?
(1) a&b
(3).5,¢,d

2) c&d
(4) a,b,c,d

Arrange these gases found in atmosphere
in decreasing order —
a. Neon

b. Krypton

d. Helium

Select the correct answer using the code
given below -
(1) d,b, a,c

() ¢c,b,d,a

¢.  Hydrogen

(2) b,a,c,d
(4) a,d,b,c

Which of the following industry is not

Correctly matched ? :

(). Detroit — j5 famous for manufacturing
of aircraft ang

@) Pittsburgh — js famous for iron and
Stee] mdllstry

(3) MaIIChester = is fﬂ.mous for tcxtﬂe
Industry,

S Liverpooj
buildin&

— is famous for ship
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g, With references to India, Didwana, 11. Which on€ of the following is not correct

h 0 Buff
Kuchaman, Sargol and Khatu are the (1) On (1% June 2007 a uffer Zone of
f 148 Sq. Km. added to Silent Valley
names O
National Park.

s

ylaciers i
(1) Glacers (2) Silent valley area was notified as

o) e arcas
(2) Mangrove areas reserved forest in 1914.

(3) Ramsar sites (3) The Silent Valley movement is a

(4) Saline lakes very popular effort to keep valley

silent and control noise pollution.

9. Which of the following statements are (4) Silent Valley is an evergreen

not correct about coral reefs ? tropical forest in District of Kerala.

a. Corals propagate in tropical waters.
‘ The place situated between little

Andaman and South Andaman -
(1) 10° Channel

(2) Duncan Passage

(3) 9° Channel

(4) 8°Channel

b. Fresh water and highly saline water
are suitable for the development of
corals.

c. Corals are highly fragile and

vulnerable to climate.

d. The ideal depth for coral growth is
65 to 85 m. K Ministry of Culture of the Government
Choose from the options given below - = of India has setup seven Zonal Cultural
(1) a,b,d Centers (ZCCs) to promote and preserve
(2) c&d the cultural heritage of various regions
@ (3) Botha&c oflndias |
B g b (1) Dehradun, ~ Chandigarh, ~ Pune:
Udaipur, Lucknow, Guwahatl,
Thanjavur
10. Which among the following is not an (2) Patiala, Udaipur, Nagpuh prayagrais
example of a convergent plate boundary ? Kolkata, Dimapur and Thanjavt
(1) Mount Fuji (3) Amritsar, Jaipur, Nagpur: Prayagra)
(2) Mount Lassen Kolkata, Kan yakumnl'i. Thanjavur
(3) Himalaya (4) Jalandar,  Jodhpur, NPT
(4) East African rift Prayagraj, Kolkata, Thanj""
s64-C &
e ‘
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14. Granite and granitic rocks covered
percentage  of the total

geographical area of Karnataka.

gk (1) 28 (2) 48

ij;‘ 3) 15 (4) 75

15. Consider the following district(s) with
their importance :
a. Bangalore - Highest density

of population
b. Belagavi - Largest district
Uttara — Highest forest
Kannada area
d. Kodagu - Smallest district

How many pairs are correctly matched ?
(1) only one pair
(2) only two pairs
(3) only three pairs
(4) All four pairs

16. New Moore Island disappeared in t
sea after many years of its creation. This &
island was claimed by which of the
following two neighbours ?

(1) India and Pakistan -
(2) India and Sri Lanka ]

Vg

e

(3) India and Bangladesh
(4) India and Myanmar

Match the following water fall with the -’

'z Tiver : '
i. Jog a. Sharavathi I I
ii. Gokak b. Doni
iii. Magodu c. Ghataprabha
iv. Chayabhavathi d. Bedti

(1)
)

a
a
a
Cc

oo o &

m

o o a0

v

PO O A

)

18.

Consider the following statements : ai

Assertion (A) : Gram panchayats are
working to improve education,
health and social sanitation, housing
and social protection and
productivity.

Reason (R) : Gram panchayats working -
for poverty alleviation.

Choose the correct answer from the

options below :

(1) Both Assertion and Reason are true
and Reason is the
explanation of the Assertion.

(2) Both Assertion and Reason are true
but the Reason is not the correct
explanation of the Assertion.

(3) Assertion is true but Reason is false.

(4) Both Assertion and Reason are false.

land

correct

The total geographical area of Karnataka _ -

I S—

(¥ Scanned with OKEN Scanner

accounts __ percentage of the area of
the country.
(1) 2.4 2 4.0
3) 5.8 4) 10.5
Match the following :
I I
. Co-operative a. Loan to purchase
Society cattle
- Gram Panchayat b, Credit to farmers - *
- Self Help Groups c. Public polio
Primary o ;
_ ealth d. Supply of
Centre drinking water
1o g
(y & s c
@) ¢ gt d
(3) d a b c
4) b d a c
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71, Which one of the following is not a
Hydro Electricity Generation Project in
Karnataka ?

E (1) Sharavati Project
“ (2) Kali River Project
(3) Bhadra Project
(4) Bhima Project

v
-

Which ideologies were mentioned in
Radhakrishnan Report released in 2007 ?
1. Increasing farmers suicide due to

agricultural indebtness.

(8]

Because of mediators farmers’
indebtness and interest rates are
increasing.

3. Explain the importance of education

to remove the gap between rural an
urban.

4. Providing permanent shelter facility
for  agrarians  besides
agriculture land.

(1) 1 &2only

(2) 2 &3 only

(3) 1 & 4 only

| (4) All of these

L LL

1 23. Who is responsible for interest rate on
deposits in Cooperative societies 7
! (1) President
| (2) Members
: (3) Registrar
(4) Managing Committee

564-C

911593s

their
a

()

24.

25.

. Support price

. Public b.

. Development d. It protects the producers
of cooperatives  during anti-inflation.
& regulated
markets.

1 2T '3 E
(1)_c. . a S UNES
R ¢ b ay
@) ‘eroade bk
@) ¢ s udir
Consider the following :
L. Silicon ity 2. Start-up city
3. Diamondcity 4, ITHub
Which of the above are not applicable to
Bangalore City ?
(1) 4 only
) 3 &5 only
4) s only ' ' }

Manaswini  Scheme  introduced by
Government of Karnataka is to protect :
(1) Aged people

(2) Children

(3) Women

(4) None of these

Match the following measures for price
stabilization :

a. It helps to stabilize the
prices of agricultural
products.

Determining prices for
the benefit of producers
and consumers by
reducing the involve-
ment of mediators.
Setting up of minimum
prices by the govern-
ment to  purchase
agricultural products at
the time of inflation.

policy

distribution
policy

Buffer stock C.
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927. Statements relating to the Mysore

Tenancy Act 1954 :

A. The amount of gani should not be

‘E more than ‘e
. 4
B

. Tenancy to tiller for more than 12

years.

C. Empowered the farmer to sell the

land.

D. Owner of land acquiring land from

28.

29,

4

tenant for his own cultivation.
(1) Only A, B, C are correct.
(2) A & D are wrong.
(3) A, C & D are correct.
(4) Only A, B & D are correct.

Match the following below :
Author Book
(i) Nayasena — Dharmamrutha *'
(ii) Nagachandara — Ramachandra Ch
(iii) Nagavarma  — Chandobundhi
(iv) Janna — Yashodhara Chari
(1) Only (i), (ii) are wrong. -
(2) Only (i), (iv) are correct.
(3) Only (i), (iv) are correct.
(4) All are correct.
Which one of the following is a ferrous
metal 7
(1) Copper (2) Lead
. (3\ Tin (4) Manganese
564-C |

32.

33.

(1)

30.

31.

pilakula wildlife sanctuary is in which
district ?

(1) Shivamogga

(2) Chikkamagaluru

(3) Dakshina Kannada

(4) Uttara Kannada

According to the Indian Meteorological
Department (IMD), which storm is
classified as a “Super cyclone” when the
wind blows at whatever speed ?

(1) Above 200 km

(2) Above 100 km

(3) Above 220 km

(4) None of these

Consider the following pairs :

(a) Big Trunk — The Northern

Route . Atlantic Sea
Route

(b) The Trans- — Darwin and
Continental . Melbourne
Stuart
Highways

(¢) Channel tunnel — Paris & London

(d) The North — North America
Pacific Sea - and East Asia
Route ;

Which of the above given pairs is/are
correct ? i ' )
(1) (a) only

(2) (b) only

(3) Both (a) & (b)

Consider the following statements :

@) The rain forest of the Amazon basin
is called ‘Selvas’.
The Semangs are the tribal people
.Who live in Amazon basin.

Wlu h is/are
corr:ct ?Of Do absvey -
(1) (a) only . ]

) (b) only

(3) Both (a) and
(4) Neither (:;lnt(b:,)(b)
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34. What was the reason for Mahatma 37. Complete the series by using one of the

Gandhi to organize a Satyagraha on options : 0, 5, 35, 190, 970
behalf of the peasants of Kheda ? (1) 4815 (2) 4845
E:*"'i % (a) The Administration did not suspend (3) 4875 (4) 4895

the land revenue collection in spite \
38. Shalini bought a washing machine for

Z 45,000 (cost price) and sold the same
at a profit of 20% on its selling price.
What is the selling price ?

of a drought.
(b) The Administration proposed to

introduce permanent settlement in

Gujarat. .
Which of the statements given above (1) 54,000
is/are correct ? (2) ¥56,250
(1) (a)only (3) T59,750
(2) (b) only (4) None of these
(3) Both (a) and (b)
| (4) Neither (a) nor (b) 39. If B=2
.l C=6
h 35. Reforms in the Civil Services wa Do
introduced by E =120
(1) Lord Wellesley i z{;? e
(2) Lord Cornwallis 70 ) 840
(3) William Bentinck (4) 152
! o Toet G 40.  Raju and Ravi together can repair and

service in 4 days. If Raju alone can

+ 36. Match the following : complete the work in 6 days, in how
i . List -1 List — IT many days will Ravi C-'Ompl _— the w4 .\
A. Quit India Movement 1., 1927 Wwork ? ' ' b %
\ ﬁ“iﬁ Simon Commission 2. 1920 (1) 24 days ) 124
C. Khilafat Movement 3,19 - € 6 days (4.) Szda p
‘ D. Montague-Chelmsford Act. 4. 1919 A
Codes : 4. A270 poog
ong traj o SRl
| S T e
i (1) 1 L fUnning opposite direction at the
‘. @1 3,2 4 *Peed of 80 kmph in 9 seconds. What is
: (3) 3.0 2 4 the length of the oth, m' .?
W3 .1 .4 2 (1) 230 “2- Swm
(3) 260 m @

(4) None of these
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AN

/

A

oz aowRtd 500,000 gp. RO
TR0, SeEY ke 10% Xo¥ W&,
DOBSe aasir 12% Xo¥ W&, SWOIe F[RF
11% Xov wad BoR, ab.rad) asm-s
AR W o .aasi% ?

(1) . 1,60,000
(2) cw. 1,70,000
1,50,000
VINTY, NPT B,

g.

e)

(3)

e)

(4)

B 205 Scha s ©030 851 2 JIRF.
8 IXFAY J03T, w=o G, WORT 08T -
DE T 2
1) 8 IRFs
(2) 10 SIrrish
(3) 12 SH@enisd

20223 =330 13e des)y S&mdmhﬁ@
2e mc? 2022 o3ng mda‘ahd)éd’ ?
(1) wexxwno

() g
(3) 8= 4) zes
WOOTE X083 Frog, : o0
41526378 NATURE gy, 627109

QWOTRTT, &t Zodez Eone)

STNOELS ? % HUNTER
() 480690 2) 4267 ..

09
(3) 416790 @) 46270

1, 16, 81, 256,
(1) 260
‘(3) 450

47. NaOH gossed 8ot
48.

) R 16
 (3) oen 20

0) Qgon 15 ;
49L;)6l o’umms !

(2) SO ' .-
4) 383

(1) sogpedos
(3) ©igeod b

1961 © teRoE0mD FOEOR owaw l}
ouprsy, ARE eEm SR, cdnRde
De80% &BITOWOT I HRDOODI), FoZ
AN OTEOXT wsab QeI 9

(1) ogon 14
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42. Mr. Dinesh borrowed ¥ 5,00,000. The 47.
rate of simple interest being 10% for the
tﬁﬁ first year and 12% for the second year
and 11% for the third year. What is the
total interest for 3 years ? 48.
(1) ¥1,60,000
(2) ¥1,70,000
(3) ¥1,50,000
(4) None of these :
' (¢
43. The age gap between A and B now is 2 :
years. After 8 years, the age gap between %
them will be 4 i
(1) 8years L]
(2) 10 years 23
(3) 12 years ' ‘
(4) None of these -
44. If the January 1% of 2022 falls on i
Saturday, what will be the day on 2™ of {
July, 2022 ? i
(1) Sunday (2) Wednesday = g -
(3) Friday @ Ganttsy: % LY
45. In a certain code HUMANITY is written

mw. How is HUNTER written in that

46.  Which of the following numbers of the

1, 16, 81, 256,
(1) 260 (2) 700
(3) 450 (4) 625

BN S NGIS DT RPTS. :

as 41526378 and NATURE is written as

)
?

(1) 416690

(3) 416790

(2) 426709
(4) 462708

given options will come in pla.ce
blank in the series :

NaOH solution is i3
(1) amphoteric ~ (2) basic
(3) acidic (4) neutral

Which section of the Land Reforms Act
1961 gives the soldier or seaman, the right
to resume the lands from the tenant
irrespective of the nature of tenancy, if he
wants to cultivate the land personally ?

(1) Section 14
(2) Section 16
(3) Section 20
(4) Section 15

RS

A

Section 26 OfKama ka
Act 1961 makes pro si '
(1) Simple Mor 3

(2) Usufructuary
(3) Long term N g
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(@) (i) =08 (i) 20@p 37

}4‘ NNV, IR WtrDE tinsEm
BodaRNTFY R 7

(1) 83des0es

Q) =3

(3) AEeB3/RoronR
4) TRF3 w3

24 TS0 By AT DR

htkas.comg

(b) RedeEReT &e;;mﬁemm a‘m

R0eDT o BewF/ niesd BOORPNS 2 f_ =
(1) (a) =8
(2) (b) %3
(3) (a) &2 (b) DTRD
U)@) (a) s, (b) ey

%1 © mp .
(1) 1936 i fea‘ z;j;a NS
(2) 1946 (1 I
oR

3) 1956 O (I)Wm&?
(4) 1966 1)) BB

;4 ‘FTOFE WO Qo) R | ~
B00I033T> 7 Resosory G3) w3z
(1) Emodscd (4) ozt .
(2) LT VPO, P i :
(3) wWORRNT Mostney P :; : .':'i.':;:'_,:.
(4) ComBRLT R oty

&or . @) S,
(16)
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53, Consider the following statements about 57. Functional analysis of stratification Wi
Badami Chalukyas Virupaksha Temple : propoundedby
(i) This Temple was built by wife of (1) K. Davis
Eﬁ Vikramaditya’s 2" to Lokamahadevi (2) J. Parsons
to commemorate her husband’s win (3) E. Durkheim
- over Pallavas. (4) Max Weber
(if) The Chief Architect of this temple is
Anivaritagunda. 58. Consider the following statements :
Choose the correct answer. : (a) ‘Praries’ of Canada represent a
(1) Only (i) is correct. P typical example of 2 Temperate
(2) Only (ii) is correct. Grassland. -

(b) Temperate Grassl.
‘Veld’ in Sduth
W}nch of the abo

(3) Both (i) and (ii) are correct.
(4) Both (i) and (ii) are wrong.

34, Which of the following is not Exogenic Comect ; gt i
Geomorphic process ? 0 (a) only FEN : :
(1) Weathering (2) (b) t‘ml'y W _._
(2) Erosion
(3) Deposition £
(4) Orogeny

88,
(1) 1936

(2) 1946
(3) 1956
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61. w0800 2OWEET o3peroR

TOWORTT ?

(1) gcsecD DX 108
(@) ustaD A 2,08
(3) BeTRO Ak ADISlene

(4) SWEF

| 62 R0 atwond HgE Bowas (ZBB) | 67.

QRTI

(1) B.20. 3e°

Q) ©T.. D[
(3) ».3 . méa‘;ﬁaf

/ o guns cdne 0edoD HORT QPP

esdnemooncdpodrt & SBOITONT ?
(1) ASEOE

(2) ©3,e8 w80 TOIT oS

(3) Ao BRSPS

(4) TORT H,BHO TORT AT

202122 © ©OFE ReT JooT Boor e
oazsdd 3 ST :

(1) 2,36,451 cp.nsb
(2) 2,78,786 TR.A
(3) 2,22,002 dn.nsd

(4) 230 . 2T (4) 3,71,771 TR.N%

7

SFEITY, TRuEeTey Retosioing oA R

5,0 BePFRIR), ToreR. -.

(3) oprdes wo,08° oamojgag o e

(8) At om, 08 w3 e

/ EROBOD  ROVTIRG —_—

TORORBRERODR dﬁaﬁ:ﬁd ?
(1) wwr-IX

(2) won - IX-A

(3) e -IX-B

(4) wori - X

. U3t R wowv
S s,
, g W0 |

mdmﬂng@d 9
(1) Dowmws
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. Who introduced the  banking
~ Ombudsman scheme ?

(1) Reserve Bank of India

State Bank of India

=(3) Ministry of Finance

" (4) NABARD

The concept of Zero-Based Budget

B) was given by

.M. Keynes

R.A. Musgrave

A H. Hansen

(4) Peter A. Pyhr

he first ever Registered bank in
rmataka is

‘Canara Bank
) Corporation Bank

art IX

PNs® Ron® ST HPTE.
Dec 30, 2023, 11:45

: -C(a) All the physical, chemical

-,

h the Panchayats ?

66. Which one of the following type of
ecology is dealt with autecology ?
(1) Synecology
(2) Individual species ecology
(3) Community ecology
(4) Ecosystem ecology

67. As per Economic Survey 2021-22, per-
«capita income of Karnataka State is .
(1) T2,36,451
(2) 2,78,786
(3) T2,22,002

(’5(4) 23,71,771
8. % Consider the following

wrelated to ecology :

r—

biological factors that a species

needs in order to live and reproduce

— . |
: is called ecological niche.

u 1 (b) The boundary zone between twao

m ecosystems are known as ecotone.
\I i)

| as a distinct
'€ and lifeforms adap ed to that

mate. Biome is more extensive
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wté}i# Bt QeRTOT EReE NV WHRBRORD
BOCINT LUBTRI ol T8
Ted -1 O 11
(50%) (TOROTONEL)
A. RV SRl & 1 o0
B. muwrs gug & 2 R’i@f&&
C. P 3 w&&ﬁ%@e
D. Rooged, = 4, BROWR
L0
Xode3ried :
@y 3 1. 4
@) 3 4 £ 1
g1 .3 -4 9
) 4 2 1 3

564-C

ToWEFTew  ToR mdg_\s Q300

POyt (TSDF) myoxged "

0,5, TR, DO IRELBT.

W0 (R) : mBohs gyogedod PIT,

SR BRoneos RewTmon ©oR8F=
RS o=y Tohodsy,  BR0F -
50&@@@2&0?1‘ Qomﬁdobmﬁ.ﬂd. i
(1) (A) =% (R) aomp 2p T8 (R),
(A) o3 Zo0inmg oo,
(2) (A) =B ecsd’(R)san
() (A) ¥y wmB (R) xp,
(4) (A) =3y (R) “OBR zg

yihs

(A) 0 ZOCINE Symtere

7 o0RROT T 3030 83 FINS a%’mrwgel

TOMEN.

(a) 0O SRoNY TP BBIVOT
VOETONOT m@aﬂawdﬁodd FOWFR

wRmod .
| (b) wom; FBTRTHTEG, W TP
B0F G 59, JO° 533 FRCORLE.
(€) @), Yot So, & NO, Jod
QVOERTOZT.

(d) poEn =38 FIeBnern mech
SO, 1 &R IPIEoREY 80
pg/m?3 &SNS,

0T oI Bewdrisd TOOIPN 2 ]

(1) (@), (b), (c) =03 (d)

2) (@) (c) 32 (d) =n3

3) (b) = (d) In3

(@) (a), (b) % (c) IR

QVOERRIBT.
(b) moTRB BeDey e
Rreodor SVOERIIES.
(©) oo w8 ootRRT Yooy
(d) eaoee

23RS Son® TYTJPOS.
Dec 30, 2023, 11:46
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69, Match List — I with List — II and select 71. Consider the following statemens
the correct answer using the codes given regarding air pollution :
pelow the lists : (a) The pollutant caused by incomplete
List—1 List - 11 combustion of organic matter is
s :
Eﬁ (Cause) (Effects) carbon monoxide.
A. Carbon monoxide 1. Acid rain (b) Depletion of ozone in outer
B. Carbon dioxide 2. Explosion atmosphere may trigger skin cancer.
| e (c) Acid rains are caused by SO, and
C. Methane 3. Asphyxiation E
D. Sulphur dioxide 4. Greenhouse NO,.
effect O (d) The permissible standard for SO, in
Codes : ; O air for residential areas in India is 80
G e s U,J' pg/m?.
A (2. 3 1 4 Which of the above statements are
(s 4 2. 1 EU correct ?
By1 3 A2 (1) (a), (b), (c) and (d)
@4, 21 8 (2) (a), (c) and (d) only
(3) (b) and (d) only
4) (a), (b) and 1
M. Assertion (A) : Municipal Solid Waste J— ) (2), (b) and (c) only
is di ff in the Transport Safe
o i Consider the following statements :
Disposal Facility (TSDF) to convert { I ,

y (a) Typhoid fever is caused by viral
it into organic compost.

O infection.
: ic Municipal :
Reason (R) : The organic P I | (b) Infectious hepatitis is caused by

bacterial infection.
(c) Cholera is caused by bacteria.
(d) Amoebic dysentery is caused W

Solid Waste is converted into
compost by worms; and the process

is called “Vermicomposting’.

(1) Both (A) and (R) are true but (R) is protozoal infection,

NOT the correct explanation of (A). Which of these statements are correct ?
2) (A) is true but (R) is false. (1) (a), (b), (¢) and (d)
) (A) s false, but (R) is true. (2) (a), (b) and (c) only
(4) Both (A) and (R) are true and (R) is (3) (¢) and (d) only v

om0t 4 O @ty
564‘C the corriect explanation 0 1)
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73. Area method of land filling is most
suitable when
(1) Area is unsuitable for excavation of
v trenches.
(2) Adequate depth of cover material 18
available at the site.
(3) The water table is near the surface.
4) Natural or artificial depressions

exist in the vicinity.

74. Match the List -1 with List —IL
List -1 List—1I
A. Doctrineof 1. Shankari Prasad
Basic v. Union of India
Structure

B. Doctrine of  IL. Ram Jawayav.

Eclipse State of Punjab
C. Doctrineof IIL R.v. Waterfield
Harmonious
Construction
D. Doctrineof  IV. Bhikaji Narain
Separation of Dhakras & Ors.
Power v. State of
Madhya Pradesh
V. Kesavananda
Bharati v. State
of Kerala
Choose the correct answer from the
options given below :
A B C D
v v Wil =
O g BN ¥
(3 17 B
4 m w Vv 1

3 .

75.

©

Consider the following components of
money supply in India :

A. Currency in circulation

B. Banker’s deposits with the RBI

C. Other deposits with the RBI

D. Demand deposits of banks

Which of the above are the components
of Reserve Money ?

(1) Aand C

(2) A,BandC

(3) A,BandD

(O B.CandD

56'.3_ Every proclamation issued under Article
m 352 shall be laid before

A.
B.
C.
D.

Choose the correct option from the

Lok Sabha
Rajya Sabha
Legislative Assembly

Legislative Council

U}ollowing codes :

77.

(23)

(1) Aand B
(2) Aand C
(3) A,BandC
(4) All of these

The most significant function of the
judiciary is to protect and enforce the

0
K3
of the people guaranteed to them ij
by the Constitution of Indja. . -
(1) Fundamental Duties B0
(Z) Fundamental Rights 8 ?%I
Directi N
24; A;:eq,\,e Principles of State Policy L
of the“ g‘)j': h @ST
A li‘ﬂ
U
)
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(3) AABR03C (4 A,B,C3

79. ‘RESIDEX’R ROWODATIOZ 9N
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A, RO TRFIE BONY S0 @oeed
WoUs [RS FBoNY TONYRY DIDUWM
R, 0BT, BOTROTNG.
B. 3I%3, Teomomd NONH%

WR,0NTER DT sowoneor
TRV (A1 e S atcDlelulalc A

M 32088 SrOFSRTt FDI 5000morss,
3 : =
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78.

19.

Consider the following components of

the PURA model of  economic

development :

A. Facilitate road connectivity  in
villages.

B. Enhancement of electricity in rural
areas.

Establishment of cyber cafe n
villages.

Construction of hospital in rural
areas.

Which of the components given above
is/are the major connectivity formulated

by the PURA model ?
(1) AandD (2) A,BandD
(3) A,BandC (4) A,B,CandD

Consider the following statements in

relation to ‘RESIDEX" :

A. The index is prepared to track the
prices of residential properties in
India on the basis of actual
transaction prices.

B. The index is prepared from the
secondary data available from
various sources like housing,
finance companies and banks.

Which of the statements given above

is/are correct 7

(1) Aonly

(2) Bonly

(3) Both A and B
¢(4) Neither A nor B

80. The concept of Universal banking in
India was recommended by which of the
following Committee ?

(1) Abid Hussain Committee

(2) S.Padmanabhan Committee

(3) Y.H. Malegam Committee

(4) R.H.Khan Commitiee

564-C

The inaccuracy in the present Gregorian
second per year.

2) 26

@) 16 -
‘

81.
calendaris

(1) 36
(3) 46

When the north pole of the Earth leans
farthest towards the Sun, it is called

82.

(1) Winter solstice

(2) Summer solstice

(3) Spring equinox
O (4) Autumnal equinox

‘ﬁ) If nominal GDP is equal to real GDP,
_ * then : : : -
m (1) The GDP deflator is equal to zero.
(2) The GDP deflator is equal to one.
(3) The GDP deflator is less than one.

(4) None of these is correct.

Which of the following statements is
e

(1) FDI causes greater technology

transfers to developing countries

than to developed countries.

FDI has little effect on technology

transfers between countries, unlike
other of

@

forms
investment,

international

3 F h : . .
() FDI is more likely to promote N
economi ; v
. omic growth In countries that r:‘;'f tiir
maintai L Jojti=
i tain protectionist trade policies % e
ecau B 2 N
S¢ protection increases the *}:;‘,«, N
competitive i BN
! o need to innovate. 8~
o ~ 1
W -LdUbeb fewer technology
G
i nsfers to  developing countries
than to developed countries

(25)
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85. The sultan who styled himself “The

Second Alexander” (Sikandar-I-Sani)

was

(1) Balban

; 2) Alauddin Khalji
(3) Muhammad-bin-Tughlaq
(4) Sikandar Lodi

Who propounded the “Drain of Wealth”
theory in India ?

(1) Tilak

(2) W.C. Banerjee

(3) W.C. Wacha

(4) Dadabhai Naoroji

87. Two row boats moving together parallel
to one another moving in the same
direction are pulled towards one another.
This is explained by
(1) Archimedes principle
.(2) Navier Stokes equation

Ei(fi) Bernoulli’s equation

(4) None of these

88. A listener is moving towards a stationary
source of sound, the pitch (frequency) of
the sound heard is

(1) Lower than when he is at rest

(2) Higher than when he is at rest

(3) Same as when he is at rest

(4) None of these

O
LL

89. Which of the following is an anima]
compound, commercially used in
perfumes ?

(1) Muscone
(2) Vindesine
(3) Teniposide
(4) Vincristine

90. Match List-I with List-II and select the

correct answer from the codes given
E below :

List-I - List-II

O A vitamin 1. Pepsin
O B. Enzyme 2. Carotene

. C. Hormone 3. Keratin
m D. Protein 4. Progesterone
_ Codes :
(D =+ seceln

(et 020 Sl e

@542 1T s

@gy2i 1 3Na

1 2 4 3

4)

ng the treaty of Allahabad of 1765 the
m East India Company obtained
(1) Trading rights over Coromandel
GJ coast. _
S (2) Right to interfere into the politics of
Delhi.
(3) Diwani rights of Bengal, Bihar and
Orissa,

(4) Acceptance by Nawab of Bengal to
build a fort at Hugli.

92. Who implemented Commissioner rule it
Mysore ?

(1) William Bentinck
(2) Wellesley

(3) Clive

(4) Warren Hastings

S64.c o

e ———mt
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(1) 74 (2) 54
(3) 75 4) 76
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(pentose sugar) :
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(3) Roxi®) RO eSS I W oD

FORO3T.
95. ToRoneon Jo ReOINFRY  Iricde e u
= 7 RPgod ReTo
I 08, RERCRY LHROIYES 7 ) wngless e
E SOBIIT 95,83 BT
(1) Feipesomr ZPe % 1S v
2) esdqaaimemgﬁep‘ T _
B3 FYNS 0T 03T 22 0D TR
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- e 2l 5
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L ' () e AFo (4) gPex®
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feerried 3000 Na+ €903 LD }A PRUE TORTOIT Bt Fvsorn et
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93. Total number of Ramsar sites in India :
(1) 74 (2) 54
3) 75 4) 76

The pentose sugar found in DNA is
(2) Xylose
(4) Ribulose

(1) Arabinose
(3) Ribose

95, is used to

remove oil spills from ocean ?

Which micro-organism

(1) Nitromonas species
(2) Azatobacter species
(3) Lactobacillus species

(4) Pseudomonas putida

96. In axonal conduction of nerve impulse,

which of the following statement is
true ?

(1) A resting neuron is positively

charged inside and positively
charged outside.
(2) Axonal membrane is more

permeable to Na* ions and less
permeable to K* ions at resting
potential.

(3) During repolarization Na* ion gates
open and there is a pumping out of
Na* ions.

(4) During depolarization, Na* ion gates
open and there is a pumping in of

Na* ions.

97. The following is not a special feature o
the speaker in Lok Sabha :

(1) When house is dissolved, the

speaker does not vacate his office,

(2) He will continue in office until new

speaker is appointed.

(3) Parliament is empowered to fix the

salary and allowances of speaker.

(4) First session of the new assembly

will be presided by him.

Who is the Chairman of 22™ Law
Commission of India ?

(1) Justice Chandrachud

(2) Justice Rituraj Awasthi

(3) Justice Hegde

| (4) Justice Kania

The enzyme responsible for the emission
of light by fire fly is ;

564-C

(1) Amylase (2) DNase

I I (3) Luciferase (4) Lipase

100. According to the following schedule

members of the parliament should
oath of affirmatjop, -
(1) First (2) Second
(3) Third (4) Fourth

(29)
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